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x² + (a - x)² = (a - 2x)²      

 
              x² + (a - x)² = (a - 2x)² 

 
      x² + (a - x)(a - x) = (a - 2x)(a - 2x) 

 
x² + a² - ax - xa + x² = a² - 2ax - 2ax + 4x² | -a² 

 
                  2x² - 2ax = 4x² - 4ax | -2x² 

 
                         -2ax = 2x² - 4ax | +2ax 

 
                  2x² - 2ax = 0 

 
                   2x(x - a) = 0 

 

Produkt aus 2 Faktoren wird dann 0, wenn einer der Faktoren Null ist. 
 

Erster Faktor: 2x = 0 | :2 
 

x1 = 0 

 

Zweiter Faktor: x - a = 0 | +a 
 

x2 = a 

 


